2009 Spring
Computer Engineering Programming 1

Lesson 5
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Jbyoo@konkuk.ac.kr
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if( sales > 2000 }— e f
bonus = 2()();4 ............................................................................................................................. """" b onusOiIZOO%EHO\P\ID """

if( score >= 60)
printf("& 2 LICE \n");

if( height >= 130 && age >= 10 )
printf("=01J12E & = ASLICH\n");

« if 20| ELIH if 2 Ot 280| M3 =C

if ( temperature <0 )
printf("& X SotZ LICH\n"); // 220 & [HEH Al &Y
printf("S M 2= %5 &LICH\n", femperature); // & &f & &l
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//if 2= AIESHH S+2 &8 P80l T2 18

#include <stdio.h>

int main(void)

{

int number;
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printf("E =5 L ZoIAIL:");
scanf("%d", &number);

if( number >0)

printf('e == F 4
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if( number == 0)

printf('@ == F 4
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if( number <0)

printf("& == == S+2LICL\n"),

return O;
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//if 2= MNESIH 22 B+E 8ot T2 18

#include <stdio.h>

int main(void)

{

int number;
Q

printf("E 42 A GIAI2:"); SO
il

scanf("%d", &number); =

if( number % 2 ==1)

printf("2 2 & Y= E2ULICH\N")

if( number % 2==0

)
printf("L S o= Rl Ch\n");

turn O;
} return _
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//if 22 AIE0IH EUgt2 Fot=
#include <stdio.h>
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int main(void)
{

int number;

printf("& =& LS StAI2:");
scanf("%d", &nhumber);

if( number < Q)
number = -number;

printf("ZE 2t 2 %d 2 LICH\n", number);

return O;
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if (score>=60) e score7+6OOI/\$Ol‘?ﬂ/\,-_ng """"""

("S- 21 LICH\n");
printf("2 2ot 2.\n");

14



// if-else 22 0|20t =42 &
#include <stdio.h>

int main(void)
{

int number;

printf("E 42 2 25tA2:");

SCan(”%d"' &number'),‘

if( number % 2‘5'":'““0 )

printf("& 2= == B LILE\n");

else
printf("& B E F+= E+ULIC\N")
return O;
42 2H0tAI2: 50
A= Hpz= B L0
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// Lt=&lS 61| 80l 201 021X E if-else
#include <stdio.h>

int main(void)

{
int nl, n2, n3; ‘

printf("& =5 L EotAI2: "), A2 0S5/ P 5
scanf("%d", &nl); A2 OISIGIA| D 4
' . Zl= 182/L10H
printf("E =5 L SEGtAI2: "),
scanf("%d", &n2);
if(n2==0) // 221 01X & Al
{
printf("02 2 Lt= == ASLICI\n");
}
else
{
n3 =nl/ n2; // L& Al
printf("Z = %d& LICt\n", n3);
}
return O;




Ofl &l #3

// &3 gttt T2 T el

#include <stdio.h>

int main(void)

{

int year;

printf("H TS LHGIAIL2: ");
scanf("%d", &year);

if((year % 4 == 0 && year % 100 |= 0) || year % 400 == Q)
printf("%dH 2 & A LICH\n", year);
else

printf("%d= 2 &= 0| Ote LICE\n", year);

40

return O:

}

A= &S ofA L2 2005
200582 =50/ OFE/ LI
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if( score > 80)
if( score >90)
printf("& &2 stE 2 A LICH\n");

\
e er e enenaean If _E_O\l_g _E_xckxl_a oll |f‘E‘O|
Sort 3e

if( score > 80)
if( score >90)
printf("E &l &FEE2 AL LICH\N");
else

printf("& &2 stE = B LILE\n");
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if( score >80 ) HEOF THE fA T else
4 AL OHRIAFIEHEH &
{ L= ALRd0 EE
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if( score >90) SE Feth

printf("& &2l SfE 2 AYLICHE\n");
}

else
printf("S &2l stE =2 AL BJF OFE LICEA\N");
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if( score > 80)

{
if( score>90)

printf("& &l 2

else
printf("E &2

}

else

{
if( score>70)

printf("& &l 2

else
printf("E &2

If-else A& Qtoill &
if-else™ol EQUE 4
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MA 270 =0 XKIAZF XE71
o T 2/l &— 2+|—_1—H"Hx X 7|
#include <stdio.h>
int main(void)
{
int n1, n2, n3, min;
printf("& = 374 & L SHAI 2:");
scanf("%d %d %d", &nl, &n2, &n3);
if(nl<n2)
if(nl<n3) ‘
min = nl; &+ 3%’5 | otAIL:10 20 30
else 7e &2 A= 108/L1CH
m|n = n3; Q = T
else
if(n2<n3)
min = n2;
else
min = n3;
printf("M & 22 = %d 2 H CHn", min);
return O;
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if (score >= 90)
printf("&=: & A\n");
else if (score >= 80)
printf("& = & & B\n");
else if (score >= 70)
printf("&=: & C\n");
else if (score >= 60)
printf("& . & & D\n");
else
printf("= &&= & F\n");
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#include <stdio.h>

int main(void)

{

int score;

printf("S =S GHAI2: "); @

scanf("%d", &score);

if (score >= 90)

printf("& A: S&EA\n");
else if (score >= 80)

printf("& 2 & &B\n");
else if (score >= 70)

printf("&2: & &EC\n");
else if (score >= 60)

printf("& 2: & D\n");
else

printf("S &2 & &EF\n");
return O;




= A =7 oA

// 2NEE 2Fote T2

#include <stdio.h>

int main(void)

{
char ch:
printf("= XS S EotAI2: "), @ ZAE 2/ oIAIL: ¢
’ = A Z7TI0/
scanf("%c", &ch); | c= LZEAEILICL

if(ch»>x"A" && ch<«="Z")
printf("%c= 2 X LICH\N", ch);
else if(ch»>="'a' && ch<«="'z")
printf("%c= AF A LICE\N", ch);
else if(ch>="'0" && ch<='9")
printf("%c= = X LICH\N", ch);
else
printf("%c= JIEFE A LICH\N", ch);

return O;
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// 2t st dt= HAMD| 22 )
#include <stdio.h>

int main(void) ‘
{ _,/&A/Q g//i-'/
1

char op; A

int x,y:

printf("+ A S LABIAI2: "),
scanf("%d %c %d", &x, &op, &y);

if(op=="+")

printf("%d %c %d = %d \n", x, op, y, X +Y);
else if(op=="-")

printf("%d %c %d = %d \n", x, op, y, X - y):
else if(op == *'

printf("%d %c %d = %d \n", x, op, y, X * y);
else if(op=="/")

printf("%d %c %d = %d \n", x, op, y, x / y);
else if(op=="%")

printf("%d %c %d = %d \n", x, op, y, X % y);
else

printf("XI 2 = X 2= HAAXALICEH \n");
return O;
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switch(Z& 21 4!)
{
case clI.
[ ] II..Z
break;
case c2
[ ] II-2

break;

case crm.
e
brea k;

default:
=&d
break;

A §

Zx] > break
=X2 > break
=ZXn > break

h 4

default

Y
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> case_cl:
ERL
| brea&; >

> case _cZ:

X
v brea&; >

—> case cp:
=3y
[/ breal(l; >

> default:

=
=&

break¥ >
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int main(void)
{

int number;

printf("g 5 LHIAL");

scanf("%d", &number); ‘
switch(humber) &

{ O O/ L/

case O:
printf(" Sl S¥#n");
break ;

case 1:
printf("SFLHAN");
break ;

case 2:
printf("=Wn");
break ;

default:
printf("ZfS#n");
break;
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—————= case 0:

_— orintf(“gS\n");

break;
\H“““ﬂtcase 1:
2 | printf(“stL\n");
reak;

ase 2:
printf(“=\n");
break:;

default:

printf("Za\n"");

break:;
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> case O:

,3\</ printf(“gS\n");
e break;
Hﬂﬁ“‘ﬁfcase 1:

A
I\_4/I

printf(“atL\n");

case Z2|:
tprintf(“=\n");

break;
,/f”’#ag;ga;t:

) printf("Z2\n");
break;
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switch(number)
{
case O:
printf(" ¢! S¥Wn");
break;
aes L 2040 HRE
printf("SFLAN"); otLiZ2 S A
_break; X 2lot)| <ot
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case 2.
case 3:
printf("5= A L 7 Wn");
break;
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default;
printf(" 2-Swn";
break;
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= case 0:

/ printf(“si=S\n");
break;

\\\“~*case 1:

/,/”/’ printf(“atLi\n");
break;

= case 2

_— printf(“S\n");
break;

T default

lpri ntf("ES\n");

break;

} |
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switch &1} if-else &

int main(void) switch(number)
{ {
int number; case O:
scanf("%d", &humber); printf("S1S\n");
break;
case 1.
if( number == 0) printf("StLi\n");
printf("SiS\n"); break;
else if( number == 1) case 2:
printf("StLt\n"); printf("=\n").
else if( number == 2) break;
printf("=\n"); default:
else printf("ZS\n");
printf("Z3S\n"); break;
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#include <stdio.h>

I=

2

int main(void)

{

int month, days;

printf(' A2 AT MO LS ASBIAIQ: )

scanf("%d", &month);
switch(month)

{
case 2:
days = 28; ‘
break;

case 4;

~rACcno

case 11:

Cao>T U
A
case 9: oIAZ of ] AL 2
O/ o/ A
— T

days = 30;
break;
default:
days = 31;
break;
}
printf("%d & 2| Y+ %d L|CLWn", month, days);
return O;
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#include <stdio.h>
int main(void)

{
char op;
int x, y;

printf("=A1 2 YHSIA|R: "), )
scanf("%d %c %d", &x, &op, &y); ANZ2 012514/ P 10 % 3
switch(op) 10 % 3 = 1
{
case '+
printf("%d %c %d = %d Wn", x, op, y, X +y);
break;
case '-":
printf("%d %c %d = %d Wn", x, op, Y, X - y);
break ;
case "*":
printf("%d %c %d = %d Wn", x, op, y, X * y);
break;
case '/"
printf("%d %c %d = %d Wn", x, op, ¥, X/ y);
break;
case %"
printf("%d %c %d = %d Wn", x, op, ¥, x % y);
break;
default:
printf("X| F [ X| = ALK LICE Wn");
break;
}
return O;
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goto error; et
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error: | =elE

. =

[13
printf(“QLEL M \n");
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#include <stdio.h>

int main(void)

{

loop:

end:

}

inti =1,

.Printf("%d *%d = %d Wn", 3,1, 3 * |)/
I+ +;

if(i == 10 ) goto end;

goto loop;

return O;
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